## ON A CONJECTURE CONCERNING THE HARMONIC SERIES

## Krassimir T. Atanassov

CLBME - Bulg. Academy of Sci., P.O.Box 12, Sofia-1113, Bulgaria e-mail: krat@bgcict.acad.bg

Let

$$H_k = \sum_{i=1}^k \frac{1}{i}.$$

The Euler constant is defined as (see, e.g., [1]):

$$C = \lim_{k \to \infty} \sum_{i=1}^{k} \left(\frac{1}{i} - \ln \frac{i+1}{i}\right) = 0.5772156649....$$

Hence,

$$C = H_k - \ln(1+k) + \alpha_k,$$

where  $\alpha_k > 0$  and then

$$H_k = \ln(1+k) + C + \gamma_k,\tag{1}$$

where  $\gamma_k = -\alpha_k < 0$ .

For each integer k > 1 there exists a corresponding integer  $n_k$  such that

$$H_{n_k-1} < k < H_{n_k}$$
.

In [2] it is posed as a problem to prove that

$$n_k = [e^{k-C}] \quad \text{or} \quad n_k = [e^{k-C}] + 1,$$
 (2)

where [x] denotes the integer part of the real number x. A weaker assertion is given by the author together with L. Asenova (now – his wife L. Atanassova) in [3]: for every integer  $k \geq 3$ :

$$[H_{[\sum_{i=0}^{k} e^{i}]}] = k+1.$$

In [1] it is proved that

$$e^{k-C} - \frac{1}{24e^{k-C}} - \frac{2}{e^{3(k-C)}} - \frac{1}{2} < n_k < e^{k-C} - \frac{1}{24e^{k-C}} + \frac{2}{e^{3(k-C)}} + \frac{1}{2}$$
 (3)

and in [4]: if  $e^{k-C} = m + \alpha$ , where  $m = [e^{k-C}]$  and  $0 < \alpha < 1$ , then

$$\alpha \notin \left[\frac{1}{2} - \frac{1}{10m}, \frac{1}{2} + \frac{1}{m}\right].$$
 (4)

Here we shall prove the following

**THEOREM 1:** For every natural number  $k \geq 3$ :

$$n_k = [e^{k-C} + \frac{1}{2}]. (5)$$

**Proof:** Initially, we shall note that

$$\gamma_{k+1} - \gamma_k = H_{k+1} - \ln(k+2) - H_k + \ln(k+1) = \frac{1}{k+1} - \ln(1 + \frac{1}{k+1}) > 0,$$

i.e.

$$\gamma_{k+1} > \gamma_k$$

and the sequence  $\{\gamma\}_{k=1}^{\infty}$  is growing.

It is valid the following

**LEMMA:** For every natural number k:

$$\ln \frac{k + \frac{1}{2} + \frac{1}{2k}}{k + 1} > \gamma_k > \ln \frac{k + \frac{1}{2}}{k + 1}.$$
 (6)

We shall use the formula

$$H_k = \ln k + C + \frac{1}{2k} - \frac{1}{12k^2} + \frac{\varepsilon_k}{120k^4}$$

for  $0 < \varepsilon_k < 1$  (see formula (6.66) from [5]). From here and from (1) we have that

$$\ln(1+k) + C + \gamma_k = \ln k + C + \frac{1}{2k} - \frac{1}{12k^2} + \frac{\varepsilon_k}{120k^4}$$

i.e.,

$$\gamma_k = -\ln\frac{k+1}{k} + \frac{1}{2k} - \frac{1}{12k^2} + \frac{\varepsilon_k}{120k^4}.$$

Therefore,

$$\ln \frac{k + \frac{1}{2} + \frac{1}{2k}}{k+1} - \gamma_k$$

$$= \ln \frac{k + \frac{1}{2} + \frac{1}{2k}}{k+1} + \ln \frac{k+1}{k} - \frac{1}{2k} + \frac{1}{12k^2} - \frac{\varepsilon_k}{120k^4}$$

$$= \ln \frac{k + \frac{1}{2} + \frac{1}{2k}}{k} - \frac{1}{2k} + \frac{1}{12k^2} - \frac{\varepsilon_k}{120k^4}$$

$$= \ln(1 + \frac{1}{2k} + \frac{1}{2k^2}) - \frac{1}{2k} + \frac{1}{12k^2} - \frac{\varepsilon_k}{120k^4}$$

(from formula (601) from [6])

$$> \frac{1}{2k} + \frac{1}{2k^2} - \frac{1}{2}(\frac{1}{2k} + \frac{1}{2k^2})^2 - \frac{1}{2k} + \frac{1}{12k^2} - \frac{1}{120k^4}$$

$$= \frac{1}{2k^2} - \frac{1}{8k^2} - \frac{1}{4k^3} - \frac{1}{8k^4} + \frac{1}{12k^2} - \frac{1}{120k^4}$$

$$= \frac{11}{24k^2} - \frac{1}{4k^3} - \frac{16}{120k^4}$$

$$= \frac{1}{2k^2} \left(\frac{11}{12} - \frac{1}{2k} - \frac{4}{15k^2}\right)$$

$$> \frac{1}{2k^2} \left(\frac{11}{12} - \frac{1}{2} - \frac{4}{15}\right) > 0$$

and

$$\gamma_k - \ln \frac{2k+1}{2k+2} = -\ln \frac{2k+1}{2k+2} - \ln \frac{k+1}{k} + \frac{1}{2k} - \frac{1}{12k^2} + \frac{\varepsilon_k}{120k^4}$$
$$> -\ln(1+\frac{1}{2k}) + \frac{1}{2k} - \frac{1}{12k^2}$$

(from formula (601.1) from [6])

$$= \frac{1}{2k} - \frac{1}{12k^2} - \frac{1}{2k} + \frac{1}{8k^2} - \frac{1}{24k^3} + \dots$$
$$> \frac{1}{24k^2} - \frac{1}{24k^3} + \dots > 0.$$

with which (6) and therefore the Lemma are proved.

In the proof of the Theorem we shall use the method of induction and only the right inequality from the Lemma.

First, we shall prove that for every integer  $k \geq 3$ :

$$[H_{[e^{k-C} + \frac{1}{2}]}] = k. (7)$$

When k = 3 the assertion is valid:

$$[H_{[e^{3-C}+\frac{1}{2}]}] = [H_{11}] = [3\frac{551}{27720}] = 3.$$

In this case  $n_3 = \left[e^{3-C} + \frac{1}{2}\right] = 11$ .

We assume that (7) is valid for some integer  $k \geq 3$ , and let

$$\begin{cases} H_{[e^{k-C}+\frac{1}{2}]} - [H_{[e^{k-C}+\frac{1}{2}]}] = \delta \\ \gamma_{[e^{k+1-C}+\frac{1}{2}]} - \gamma_{[e^{k-C}+\frac{1}{2}]} = \eta. \end{cases}$$
(8)

Obviously,  $\delta, \eta > 0$ .

Let us denote  $a = e^{k+1-C}$ . From k > 3 follows that a > 11). It is necessary to show that:

$$0 < \delta + \eta + \ln \frac{\left[a + \frac{1}{2}\right] + 1}{e\left(\left[a + \frac{1}{2}\right] + 1\right)} < 1. \tag{9}$$

But

$$\delta + \eta + \ln \frac{[a + \frac{1}{2}] + 1}{\epsilon([a + \frac{1}{2}] + 1)}$$

$$= \gamma_{[a + \frac{1}{2}]} - \gamma_{[\frac{a}{e} + \frac{1}{2}]} + \ln([a + \frac{1}{2}] + 1) - \ln \epsilon([\frac{a}{e} + \frac{1}{2}] + 1) + \gamma_{[\frac{a}{e} + \frac{1}{2}]} + C + \ln([\frac{a}{e} + \frac{1}{2}] + 1) - k$$

$$= \gamma_{[a + \frac{1}{2}]} + \ln([a + \frac{1}{2}] + 1) - \ln([\frac{a}{e} + \frac{1}{2}] + 1) - 1 + C + \ln([\frac{a}{e} + \frac{1}{2}] + 1) - k$$

$$= \gamma_{[a + \frac{1}{2}]} + \ln([a + \frac{1}{2}] + 1) - 1 + C - k$$

$$= \gamma_{[a + \frac{1}{2}]} + \ln([a + \frac{1}{2}] + 1) - \ln a$$

$$= \gamma_{[a + \frac{1}{2}]} + \ln([a + \frac{1}{2}] + 1).$$

Let  $a = m + \alpha$ , where  $0 < \alpha < 1$ . If  $\alpha < \frac{1}{2}$ , then:

$$\gamma_{[a+\frac{1}{2}]} + \ln \frac{[a+\frac{1}{2}]+1}{a} = \gamma_m + \ln \frac{m+1}{a}$$

(from the Lemma)

$$> \ln \frac{m + \frac{1}{2}}{m + 1} + \ln \frac{m + 1}{m + \frac{1}{2}} = 0.$$

If  $\alpha \geq \frac{1}{2}$ , then

$$\gamma_{[a+\frac{1}{2}]} + \ln \frac{[a+\frac{1}{2}]+1}{a} = \gamma_{m+1} + \ln \frac{m+2}{a}$$

(from the Lemma)

$$> \ln \frac{m+1+\frac{1}{2}}{m+2} + \ln \frac{m+2}{m+1} = \ln \frac{m+\frac{3}{2}}{m+1} > 0.$$

On the other hand,

$$\gamma_{[a+\frac{1}{2}]} + \ln \frac{[a+\frac{1}{2}]+1}{a} < \ln \frac{a+\frac{3}{2}}{a} = \ln(1+\frac{3}{2a}) < \frac{3}{2a} < \frac{3}{22} < 1.$$

Therefore, (9) is valid.

Hence, from (8), (1), (7) and (9), respective, it follows that

$$\begin{split} [H_{[\epsilon^{k+1-C}+\frac{1}{2}]}] &= [H_{[\epsilon^{k-C}+\frac{1}{2}]} + H_{[\epsilon^{k+1-C}+\frac{1}{2}]} - H_{[\epsilon^{k-C}+\frac{1}{2}]}] \\ \\ &= [k+\delta + \gamma_{[\epsilon^{k+1-C}+\frac{1}{2}]} + \ln([\epsilon^{k+1-C}+\frac{1}{2}]+1) + C - \gamma_{[\epsilon^{k-C}+\frac{1}{2}]} - \ln([\epsilon^{k-C}+\frac{1}{2}]+1) - C] \end{split}$$

$$= k + 1 + \left[\delta + \eta + \ln \frac{\left[e^{k+1-C} + \frac{1}{2}\right] + 1}{e\left(\left[e^{k-C} + \frac{1}{2}\right] + 1\right)}\right]$$
$$= k + 1.$$

Obviously,  $n_k = \left[e^{k-C} + \frac{1}{2}\right]$  satisfies the inequalities (cf. (2)):

$$[e^{k-C}] \le [e^{k-C} + \frac{1}{2}] \le [e^{k-C}] + 1.$$

We shall prove that  $n_k$  satisfies inequalities (3). Let  $e^{k-C} = m + \alpha$ , where  $m = [e^{k-C}]$  and  $0 < \alpha < 1$ . Then, if  $\alpha < \frac{1}{2}$ :

$$m + \alpha - \frac{1}{24(m+\alpha)} - \frac{2}{(m+\alpha)^3} - \frac{1}{2} < m = [m+\alpha + \frac{1}{2}] = n_k;$$

if  $1 > \alpha \ge \frac{1}{2}$ :

$$m + \alpha - \frac{1}{24(m+\alpha)} - \frac{2}{(m+\alpha)^3} - \frac{1}{2} < m+1 = [m+\alpha + \frac{1}{2}] = n_k.$$

On the other hand, if  $\alpha < \frac{1}{2}$ :

$$m + \alpha - \frac{1}{24(m+\alpha)} + \frac{2}{(m+\alpha)^3} + \frac{1}{2} > m = [m+\alpha+\frac{1}{2}] = n_k;$$

if  $\alpha \geq \frac{1}{2}$ , then from (4) it follows that  $\alpha > \frac{1}{2} + \frac{1}{m}$  and:

$$m + \alpha - \frac{1}{24(m+\alpha)} + \frac{2}{(m+\alpha)^3} + \frac{1}{2} > m+1 + \frac{1}{m} - \frac{1}{24m} > m+1 = [m+\alpha+\frac{1}{2}] = n_k.$$

Therefore,  $n_k$  satisfies inequalities (3).

Having in mind that

$$(e^{k-C} - \frac{1}{24e^{k-C}} + \frac{2}{e^{3(k-C)}} + \frac{1}{2}) - (e^{k-C} = \frac{1}{24e^{k-C}} = \frac{2}{e^{3(k-C)}} = \frac{1}{2})$$
$$= \frac{4}{e^{3(k-C)}} + 1 > 1,$$

we must show that only one natural number (i.e., only  $n_k$ ) satisfies (3). For this aim we check the expressions

$$A \equiv e^{k-C} - \frac{1}{24e^{k-C}} + \frac{2}{e^{3(k-C)}} + \frac{1}{2} - n_k$$

$$B \equiv n_k - (e^{k-C} - \frac{1}{24e^{k-C}} - \frac{2}{e^{3(k-C)}} - \frac{1}{2}).$$

Let again  $e^{k-C}=m+\alpha$  for  $0\leq \alpha <1$  and  $m\geq 11$ , as we mentioned above.

From (4), if  $0 \le \alpha < \frac{1}{2} - \frac{1}{10m}$ , then

$$[e^{k-C} + \frac{1}{2}] = [m + \alpha + \frac{1}{2}]$$

and

$$m = [m + \frac{1}{2}] \le [m + \alpha + \frac{1}{2}] \le [m + 1 - \frac{1}{10m}] = m.$$

Therefore,

$$A = m + \alpha - \frac{1}{24(m+\alpha)} + \frac{2}{(m+\alpha)^3} + \frac{1}{2} - m$$

$$= \alpha + \frac{1}{2} - \frac{1}{24(m+\alpha)} + \frac{2}{(m+\alpha)^3}$$

$$< 1 - \frac{1}{10m} + \frac{2}{(m+\alpha)^3} < 1,$$

because for  $m \ge 11$ :  $\frac{1}{10} > \frac{2}{m^2}$ , and

$$B = m - (m + \alpha - \frac{1}{24(m+\alpha)} - \frac{2}{(m+\alpha)^3} - \frac{1}{2})$$

$$< -\frac{1}{2} + \frac{1}{10m} + \frac{1}{24(m+\alpha)} + \frac{2}{(m+\alpha)^3} + \frac{1}{2}$$

$$< \frac{1}{10m} + \frac{1}{24m} + \frac{2}{m^3} < \frac{17}{120m} + \frac{2}{m^3} < 1.$$

If  $\frac{1}{2} + \frac{1}{m} \le \alpha < 1$ , then

$$m+1 = [m+1+\frac{1}{m}] \le [m+\alpha+\frac{1}{2}] \le [m+1+\frac{1}{2}] = m+1.$$

Therefore,

$$A = m + \alpha - \frac{1}{24(m+\alpha)} + \frac{2}{(m+\alpha)^3} + \frac{1}{2} - m - 1$$

$$< \frac{1}{2} - \frac{1}{24(m+1)} + \frac{2}{m^3} < 1$$

and

$$B = m + 1 - (m + \alpha - \frac{1}{24(m + \alpha)} - \frac{2}{(m + \alpha)^3} - \frac{1}{2})$$

$$< \frac{1}{2} + \frac{1}{24m} + \frac{2}{m^3} < \frac{1}{2} + \frac{1}{240} + \frac{2}{1000} < 1.$$

Therefore,  $n_k$  is the unique natural number in the above mentioned interval and with this the Theorem is proved.

The Theorem is generalized by Mladen Vassilev - Missana in [7] to the form **THEOREM 2:** For every  $k \in \mathcal{N}$  and  $p \in \mathcal{R}^+$  the identity

$$[1 + \frac{1}{1 \cdot p + 1} + \ldots + \frac{1}{[\frac{e^{kp} - 1}{p}] \cdot p + 1}] = k,$$

i.e.,

$$[H_{n_k(p)}(p)] = k,$$

holds, where  $\mathcal{R}^+$  is the set of all positive real numbers,

$$n_k(p) = \left[\frac{e^{kp} - 1}{p}\right] + 1$$

and

$$H_n(p) = \sum_{i=0}^{n-1} \frac{1}{i \cdot p + 1}.$$

The present text is prepared on the basis of [8] and [9] in which there are some mistakes, which kindly were shown to the author by M. Vassilev - Missana and Prof. Donald Knuth.

## **REFERENCES:**

- [1] Zemyan, S. On two conjectures concerning the partial sums of the harmonic series. *Proc. Amer. Math. Soc.*, Vol. 95, 1967, No. 1, 83-86.
- [2] Comtet, L. Problem 5346., Amer. Math. Monthly, Vol. 74, 1967, 209.
- [3] Atanassov, K., L. Asenova. Problem 142, Physics-Math. Journal of the Bulg. Acad. of Sci., Vol. 21 (54), 1978, No. 4, 308.
- [4] Boas, R., J. Wrench. Partial sums of the harmonic series. Amer. Math. Monthly, Vol. 78, 1971, 864-870.
- [5] Graham, R., D. Knuth, O. Patashnik. Concrete Mathematics, Addison-Wesley, Reading, 1998 (Second Edition).
- [6] Dwight, H. Tables of Integrals and Other Mathematical Data, The McMillan Company, New York, 1961.
- [7] Vassilev-Missana, M. On a formula related to the *n*-th partial sum of the harmonic series. *Notes on Number Theory and Discrete Mathematics*, Vol. 6, 2000, No. 2, 64-68.
- [8] Atanassov, K. Notes on the harmonic series. Bull. of Number Theory and Related Topics, Vol. X (1986), No. 2, 10-20.
- [9] Atanassov, K. Remark on the harmonic series. Comptes Rendus de l'Academie bulgare des Sciences, Tome 40, 1987, No. 5, 25-28.